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n The CMP (29) is obw'ou:{g eqw'va{pm’ fo the
-Followfnj Constrainl Variational Problem (GUP):

(30) Find ueVﬁ ¢ auw) = <{| V7 'V VGVo

This l°mvlcds'a'lelu follows from Theotem T.2.40
= Theotem 4.9 (NuPPE) , since
® a(')') is symmetric on V, (even on X),
® al-)') is posctive (even elliplit) on Vo <X,
o V,cX ~ cubspace , Vé-“- W + Vo - l\orerpfane_

a Exercise 2.1

Under the Assumption (26), the GVP (30)
has a unique solution ueVa (3!) and
the {—ollow’a:, a prior ectimate is valid:

lully € 2 1§ 0+ (442 ) 1wty Ywe Vs,

Solution: Hono}em'fah‘dq + Lexe Ml gvam



